Intermediate Algebra Skill
Finding the Midpoint of a Line Seqment Connecting Two Points

Find the midpoint of a line segment connecting the two points:

1 (0,6),(3,—5) 2) (8,3),(—6,7)
3) (—1,—10),(—2,9) 4) (—6,2),(2,—10)
1 1
5) (—5,—8),(—3,—4) 6) (—9,3EJ,£—1,7§J
1,3 1 1) 1 11
7 ZZ’ZEJ’[Z?_IJ 8) [7,57}[—3,—?}
11)( 9 5 51)(11 7
) _6’3}[_3’_3} 10) {‘7?}[?‘3}
11) (—6.4,2.5),(4.5,9.8) 12) (—2.52,—9.7),(—0.2,—0.3)
13) (9.3,—2.7),(9.4,—3.3) 14) (4,8.41),(—9,1)

15) (5,—7.1),(5.6,8.7)



Answers to Finding the Midpoint of a Line Segment Connecting Two Points

3°20
9) 32 155}

7 (23 13}

5" 84
9) [-29 _ZJ

60" 3

10) (84 20}

11) (=0.95,6.15)
12) (~1.36,-5)
13) (9.35,-3)
14) (~2.5,4.705)
15) (5.3,0.8)



